LKMHEATLOCK" E é A%y

#ow B 1R

B:REXPRESS=

w5k m5i] w il L
A =2 = A

RERNERHTR,
BEREMBIRITENRE -
i 5 - ERMRE,

Al {E AT KA E A T2 2R,
EiERY, FHRZTH .

== HURIIEI LIS IB 00

www.lkmheatlock.com.cn



LKMHEATLOCK'

HR Express 3 main options :
AMIE R B = KR

B Easy to order, save time, standard parts means
standard price, save cost, increase your profit.

B 5T &R FEGEREEESSANH
1 BEAA - BRI o

www.lkmheatlock.com.cn

Never been easier !
I BT RAE |



LKMHEATLOCK® www.lkmheatlock.com.cn

EASY | for I-shape
HIETER | BURIEW

§ 8

e—50.00 —=

~
w

L
T_TIEB | —— | et
Material : 420H Uﬂl
=i A[{E FACCSE/E (mm)  4MER<H Contour DIM (mm) MEER RMB

C-LH-AMBI12003606 80 ~ 120 36 x 50 x 184 26 ¥ 4,800
C-LH-AMBI12003608 80 ~ 120 36 x50 x 184 @8 ¥4,800
C-LH-AMBI16003606 120 ~ 160 36 x 50 x 224 06 ¥5,000
C-LH-AMBI16003608 120 ~ 160 36 x 50 x 224 28 ¥5,000
C-LH-AMBI20003606 160 ~ 200 36 x 50 x 264 o6 ¥5,200
C-LH-AMBI20003608 160 ~ 200 36 x 50 x 264 28 ¥5,200
C-LH-AMBI24003606 200 ~ 240 36 x 50 x 304 26 ¥5,400
C-LH-AMBI24003608 200 ~ 240 36 x 50 x 304 @8 ¥5,400

Included : Manifold, heaters, thermocople, feed bush, centre location, back spacers, dowel pin, mould connector box
BLFELIE « B 0 ZHRE 0 BuRsk 0 HRIE > RRENE > TR B EiEEE

EASY X for X-shape
A3 SEEAIXERIER

Material : 420H
=i A[{EMACCSERE (mm)  4MER Contour DIM (mm)  FREERE RMB
C-LH-AMBX10003606 70 ~ 100 36 x 165 x 165 26 ¥6,600
C-LH-AMBX10003608 70 ~ 100 36 x 165 x 165 28 ¥6,600
C-LH-AMBX13003606 100 ~ 130 36 x 195 x 195 26 ¥6,800
C-LH-AMBX13003608 100 ~ 130 36 x 195 x 195 28 ¥6,800
C-LH-AMBX16003606 130 ~ 160 36 x 225 x 225 26 ¥7,200
C-LH-AMBX16003608 130 ~ 160 36 x 225 x 225 28 ¥7,200
C-LH-AMBX20003606 160 ~ 200 36 x 265 x 265 26 ¥7,800
C-LH-AMBX20003608 160 ~ 200 36 x 265 x 265 28 ¥7,800

Included : Manifold, heaters, thermocople, feed bush, centre location, back spacers, dowel pin, mould connector box
E4EE : MER 0 ZRE - BURgk 0 HRIE > PREME » B 0 B RiERE



www.lkmheatlock.com.cn

Manifold plate

BRI

FASY Manifold Plate !
ESRER !

]
=

oY
[

slv—|
s2v

1v sty

N

|—slv |

b l_ &
Material : Quality P20
- I
Size : All in mm (R~f : ZX) I——slxtgzxm L Sixcs2x)— —slxmuz);) L Sixesax) —
O fer s HE o108 ol0EF] BES1 B2S2 EASIX BESIY BESIX B#S2Y
= 2} HEHEAB | B E AR HARCC T DX DY i vy i o o s RMB
2530IMP060250300 2530 120 60 80 97 M14X90 M14X115 100 77 100 38.5 ¥3,800
3035IMP060300350 3035 120 160 60 100 110 M14X90  M14X115 120 94 120 47 ¥4,300
3540IMP060350400 3540 120 160 200 60 120 130 M16X100 M16X125 142.5 112 142.5 56 ¥4,800
4045IMP060400450 4045 120 160 200 240 60 135 150  M16X100 M16X125 165 127 165 63.5 ¥5,600
o ez g HE o108 ol0EF] BES1 B2S2 BASIX BESIY BESIX 84SV
PR IR R ALLEAAO T oo oY mE AmE AE AR Am o Am o e
2530XMP060250300 2530 100 60 80 97 M14X90 M14X115 100 77 100 38.5 ¥4,600
3035XMP060300350 3035 100 130 60 100 110 M14X90  M14X115 120 94 120 47 ¥5,000
3540XMP060350400 3540 100 130 160 60 120 130 M16X100 M16X125 142.5 112 142.5 56 ¥5,500
4045XMP060400450 4045 100 130 160 200 60 135 150  M16X100 M16X125 165 127 165 63.5 ¥6,300
A A
Nozzle plate — i
AR ER i
I ol (6”1 Te]
5 | & 5 | - &
& o) ©13 & b G158
EASY Nozzle Plate ! | D 15l ) *___ 13
. Za ok =) S «" > ‘\~ —" >
AR ! ® N 7.
o T edin [ue T edds,
| @ ) o+ ||ler | o |
<& ? ’@' L4 i ‘(9'
Material : Quality P20 | | L | |
. . 1, — ox ox —= — ox o —=
Size : All in mm (R~F : ZX) L sixsao sn)(((szx)—- L sixeszx —L sixcsaxr —|

PRt 1ERRAB IBURE R HECC

2530INP025250300 2530 120
3035INP025300350 3035 120 | 160
3540INP030350400 3540 120 160 200
4045INP035400450 4045 120 |~ 160 = 200

R HHHEAB XE &R AARCC

2530XNP025250300 2530 100
3035XNP025300350 = 3035 100 | 130
3540XNP030350400 3540 100 130 160
4045XNP035400450 = 4045 100 = 130 = 160

240

200

RE o285 ol2105]
T GX GY

25 80 97

25 | 100 | 110
30 120 130
35 | 135 | 150

RE o125 on2i5]

T GX GY

25 80 97

25 | 100 | 110
30 120 130
35 | 135 | 150

ol0EST ol0ES B4SI BAS) BASIX BASIY BASKKX BASY RMB
DX DY EIf i g EIr g ik

80 97  M14X90 M14X115 100 77 100 38.5 ¥2,800
100 110 | M14X90 M14X115 120 94 120 47 ¥3,200
120 130  M16X100 M16X125 142.5 112 142.5 56 ¥3,600
135 150  M16X100 M16X125 165 127 165 63.5 ¥4,300

o10%4T ol0%E] BES1 BHS) BASIX BASIYY BASX BASKY RMB
DX DY it i i ik g i

80 97  M14X90 M14X115 100 7 100 38.5 ¥3,200
100 110 | M14X90 M14X115 120 94 120 47 ¥3,600
120 130  M16X100 M16X125 142.5 112 142.5 56 ¥4,000
135 150  M16X100 M16X125 165 127 165 63.5 ¥4,600

LKMHEATLOCK"

BEaC AP BRI B IR A S
LKM HEATLOCK CO LTD.

BEENEBRREEEHIRERISFIERNE=2

2/F., Cheung Kong Electronic Building,

4 Hing Yip Street,Kwun Tong, Kowloon, Hong Kong.

EEE Tel : (852) 2342 2248, 2341 2321

{8HE Fax : (852) 2343 0990, 2951 6199, 2341 8544
EFEFH E-mail : Ikmheatlock@lkm.com.hk

@ IE : MARPHERA THIRMR T L FIMTAIBARE - WARGHESE -

hE42E8 CHINA HEADQUARTER

FEIEREEMNRREERIIAEA595

No.459 Dong Jiang Dadao, Guangzhou Free Trade Zone
Guangdong, China

HR#R Zip Code : 510730

ERE Tel : (86) 020-8222 2895

{#H Fax : (86) 020-8221 2596

05/2007

AAMMLBES S BEAMRHERE - AXEHBELERFXDITEAN - ARCHRNTEEEERRMES - F-P-PAPE-00129




LKMHEATLOCK® www.lkmheatlock.com.cn

Hot Half with I-shape manifold

| B E R b
, |
|| I ol | - PR
P ; NI {{ N ’/ ¥ T-H.
@@ o1 l !
N ‘ I N I ' !
e | s ONE 2 &7 ‘ I
a5 Y a
\;/ \;/ o : @mm = = .
5| | @ &4t 50 |
\:/ \:/ > [ i == :_
— I 2 4
’ (%)
/i\ /i\ d
° - g — e - -H
— 1 — 1 1 T
& Z0NE 1 . A ! !
E T/ T/ “ l>5- ‘
@ @ = ] E"m I E:
kN =N |
i ZONE 3 & L
T A ST | =19 <4
7 N >
o o
D - —JR3| ®2 |l

DX GX
<—SIX(32X)—€—L'—SIX(32X)——

tg

I e
=

- - —
]
R

EASY Hot Half - I ! e
B8 | B T ———

Size : Allin mm (R~F : Zk)

o + 012115T 012105 010E$] ol0EF BASI EES2 BASIX EASIY EZS)X ELSY

e HHRAB | BV ER AECC ox oy DX DY T T s s ot i RMB
AHHI2530AMBI120 2530 120 80 97 80 97  M14X90 M14X115 100 77 100 385  ¥13,800
AHHI3035AMBI160 3035 120 160 100 110 100 110 M14X90  M14X115 120 94 120 47 ¥15,300
AHHI3540AMBI200 3540 120 160 200 120 130 120 130  M16X100 M16X125 1425 112 1425 56 ¥17,000

AHHI4045AMBI240 4045 120 160 = 200 = 240 135 150 135 150  M16X100 M16X135 165 127 165 63.5 ¥19,300

Included : 3 mould plates for hot half, manifold, heaters, thermocople, feed bush, centre location, back spacers, dowel pin, mould connector box
BB - A EEZ PSR - RIER 0 RRE > BuRsk 0 #HRIE > hREMCE > T B RihEER



LKMHEATLOCK® www.lkmheatlock.com.cn

Hot Half with X-shape manifold
X B E R A LR

— ==
A
1
I =
X .
A = 4
=5~ — =~ | il
[T i == e =
, i
l
5 x &
| 2
> 1
1%} ! srso=t
Ll i i
= |
12} l
i R e i Bl
> [/,\'E g e el e P

I py
g gl R -

I

I

E

R3] k2 iR 1

oX | GX
SIXCS2X) SIX(S2X ) ——=

i
=

i

e ulff
pELey
jﬂ

EASY Hot Half - X ! o —_
EGXBH L]

1
f
I

Size : Allin mm (R~F : Z3k)

Py s ol25] 02T o10EYT ol0EE MEST BES) BESIX BAS)Y BES)K BESY
s L b L EALE0 o 6 DX DY Mk W&k W& mE AW R
AHHI2530AMBX100 2530 100 80 97 80 97  M14X90 M14Xi15 100 77 100 385  ¥16,800
AHHI3035AMBX130 | 3035 | 100 = 130 100 | 110 | 100 | 110 | M14X90 Mi4Xi15 120 | 94 120 | 47 | ¥18,200
AHHIB540AMBX160 = 3540 100 130 160 120 130 120 130 M16X100 M16X125 1425 112 1425 56  ¥20,100

AHHI4045AMBX200 4045 100 130 160 = 200 135 150 135 150  M16X100 M16X135 165 127 165 63.5 ¥22,700

Included : 3 mould plates for hot half, manifold, heaters, thermocople, feed bush, centre location, back spacers, dowel pin, mould connector box

EfEIE - A EEZBURIR - RIER - RAE 0 BuRs 0 BRI hRERE - BT B EhEES



www.lkmheatlock.com.cn

LKMHEATLOCK"

EASY Selection Form
B HIEFITRER

Fill in the required items and please fax order form to us.

HEMERETm  RAEHERERREA -

Name Zf : i X ETAEETIRENER
HEIFRIMI Btz
Date HE :
Tel BB : B
Fax f£8 : *2 [
Product Description 7= @& %R : & U [ ———) Py
Mould No. 48 : S S Fing [
|
Material #1# : 1 I *USHitg [
Per Product Weight 2 —= R ES : th h
No. of Cavities #EE & : BRBMNE |
Wall Thinckness of Product = @Rz B R : AR [
wEMNE ] ﬁ\
|
#E1[C] #m2 ] -- ‘?1.3”\ -*‘ﬂ.j—
NERSEAR | MARSERS L TooT
o EEEECEEE I
S| - T :m—
% ! |
|
~ Il
IR o
= | T g 7 & | o 1 o
J ) IR Y
J ,/ YOQTLVAR A¥T — - = T |:|
11 | AREEEL J
s F s :ﬁ o ] 7]
*x0 [] BAE [] | ] l
|
[ e p——
3 BERE RO RE
: %Zﬁ LKMﬁ\)E-L "
- il R=19.0 D=1.5
size1 [] size2 [] Size 3 [] I3 A
| J. - - _t = ol il ey | |D=
SEMRI L —
RERKE J' ! : :
L= : &-ﬂ\ AR
| | o=y 6100 []
;’I]—f/g 2120 []
2530 |:| 2150 []
3035 [ ! '
| 2 -
*ﬁﬂlii-g 3540 |:| | 4 YOQTILVAR AYT —— Y
4045 [] ( ; ‘—_,
| ) d
|8 ] | a=—=h (1] =
X8 [ ] N
TEEHCCHH : 3 ol s s Gttty R
. _ Fle-=t-=d____J4_ 1 | WA
| _ _ \"‘/— * £ (8mm) []
Ej(ji?% / ~ %‘IF %‘IL %‘IF G J
o DD —
(] 1. Foodiis + 508 -
[ ]2 FEiR + 5 + FERER
()3 25 fEE Fax: (86) 20 8221 2596
T FE B Email : Ikmheatlock@lkm.com.hk




2t F # 51 E

A1-EN Series Features

Bushing can be used with
practically every material in
use today

Easy to design, easy to use

For shot weights up to 1650
gram

Ceramic insulation optional

www.lkmheatlock.com.cn

A1-ENZRZ G S

o L EATFEBEER

o RKEEE AN S

o ZitiE R FHAE

e FHEE10% - 16505
e AIREFEXKGEMRER

A1-TN Series Features

Easy to install, easy to use
Small residue
For direct gate on the part

For shot weights up to 1200
gram

Ceramic insulation optional

A1-TNRFIFHIBL =

e SiFH

SRE~EH

o FIEJRITE/N

o RIS ED

o & AT AEmE

e FMAEEM05% - 12005
s AIREFEKREEMRER

A1-TP Series Features

Easy to install, easy to use
Fast gate cooling

Suitable for direct gate or
gate on runners

For shot weights up to 1650
gram

Ceramic insulation optional

A1-TP R FUFLIE L =

e SiFH

S&R¥E~EH

7 18 IR iTE /)N

1R 338 14 £

iE AT B m
{EREE10% - 16505
e AIIREFEXREEMRER

Nozzle Type  ENA1

B EE (mm) Q4

ggiﬂ {R#51E (g) 200
o R (g) 100
= () 40

40

50

AR R el

L& (mm) 80

100

120

@ IE  WARMCHNBHIRMHT LA FIBMIRE - BARK

AMMRIFESER

EN2 EN3 TP1 TP2
@6 @9 @4 06
500 850 200 500
270 400 100 270
150 280 40 150
40 60 40 40
60 80 50 60
80 100 60 80
100 120 80 100
120 140 100 120
140 160 120 140
160 180 160

HFE o AARFERER S RS THERS

BXREHELBDEXMITEN - AR EL LA LHTES -

TP3 TN1 TN2 TN3
@9 @4 06 @9
850 140 330 580
400 60 220 340
280 20 100 200
60 40 40 60
80 50 60 80
100 60 80 100
120 80 100 120
140 100 120 140
160 120 140 160
180 160 180

05/2007
F-P-PAPE-00129





